=0 o
2023 20fAF 2EHE)H EXNFE L
SA: EXESD
M2 NP5 BRE(ZEUXAINL/KAHLTAI)
©e. AdXEES TAIRE (chel: & 2l)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
EXFEE 3,404,935 3,475,641 70,706
= 545,426
[ 107,900
Al 2,673,609
= 78,000
L35t BRE(ZELX L /XALTAl) 1,230,300 1,685,700 A455,400
= 294,000
Al 936,300
HEHB3 SATE 1,230,300 1,685,700 455,400
= 294,000
Al 936,300
DAHS 22| 250,300 219,700 30,600
201 LB X 78,300 47,700 30,600
01 AlR2r2IH] 3,100 3,100 0
OZUHBAAY Z2H £l 7
200,00021+35+13] 600
OZUHBAIAY Z2H X 7
150,000 *43]*1CH 600
OZUHBAAY Z2H SXE4
600,0002% 18]+ 1CH 600
OEX|0|2=tol2l DI2IMAl oI 2 X ¢
250,000 %23 500
OEXOIBHEY L3R 1= U7 1Y
100,000 x23 200
OEXOIgHEY Iuzae HTely &Y 2
200,000%33] 600
02 2229 75,200 44,600 30,600
ORSAESTRAIAL(KRAS) SXI22) 30,200
—S2EAESREAAL B S22
20,000,0002 %14l 20,000
—EEAESDLEAAY T2 S22
850,00024% 122 10,200
OZUHBAIAL S8 X122
45,000,000 % 14! 45,000
401 AlSH L2 172,000 172,000
01 Al&H| 172,000 172,000 0
O Z 2 XStALE 2Z= SDAA
22,000,0002 %14l 22,000
OXIFE J|gte] 2EXIY(XI7) =H| At
120,000,0002* 14! 120,000
O8dz 28 2= 10,000,000 %1 Al 10,000
ORVHBAAE J|s M
20,000,000 %14l 20,000
(2) 2L XGIAIE SR A 980,000 1,466,000 486,000
= 294,000
Al 686,000




2A: EXEBD
HM: MB35 BREH(ZELXGNL/XALTAI)
Chel: dEUHES TAIFRE (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
401 NI 220 980, 000 1,466,000 486,000
= 294,000
Al 686,000
01 Al&H] 980,000 1,466,000 486,000
OXIBIAAEE HE4H BAAIY
980,000,000 * 14! 980,000
= 294,000
Al 686,000
NEEEIEEEDNEN ENEETEN)) 2,067,383 1,699,765 367.618
= 251,426
[ 107,900
Al 1,630,057
= 78,000
NEEIE 1,780,433 1,439,218 341,215
= 185,926
[ 107,900
Al 1,408,607
= 78,000
EXI01S Hel 83,000 82,000 1,000
201 LB 83,000 82,000 1,000
01 AF222IHI 72,200 71,200 1,000
OEXI0IE AlH
50RI*4Z+4,0000H 800
OXI=pIe & SAD1) £l
500, 0002 *3CH 1,500
OX=E=Z41 M-S
100,000 % 142 1,400
(OINE=PII= =3 67,000,000 x1 Al 67,000
OX=BEDIY 2
1,0002%1,5000H+13] 1,500
02 2Z29H| 10,800 10,800 0
ONEPI== Xzl
8,000,000 * 14! 8,000
OX=I|I=Z2 S SXlzel
150,000 %122 1,800
ogess)|
500, 0002 *2CH 1,000
NEENEEET 83,608 79,208 4,400
101 Q124H] 16,932 16,122 810
04 JRHMIZ2IEE 16,932 16,122 810
OX=EH ™
76,9602 x2H 110 16,932
201 LB 36,676 33,086 3,590
01 AFR2t2IHI 18,510 16,000 2,510




A EXIEED
M NN (FELRGMNL/XNDLEAI)

SRl RIE2e (crel: M)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
OXETACH =2=2X(A0) 7L
250, 0002 *8EFA 2,000
OXEFAICH 222 Z2F 93 7
2,000,000+ 1HIE*13] 2,000
OXETACH 288 E2FH RS
1,000,0002 %13 1,000
OXIHEACH 2P IRIE E(4M4)
1,200,000 1CH*23 2,400
OXEE2I|EH LEY
111, 1002 % 100% 11,110
02 2229H| 18,166 17,086 1,080
OX=E=2Cad HAX
140,800 %100 14,080
ORSAZESTRAAL HIHBASS W K2
173,800 % 12 2,086
O=ZIDIELLHI0IE) SAUSSH(ESBAN
2,000,000+ 1CH*13] 2,000
308 XIXISHRISOIA 30,000 30,000
11 B 2SOHEH B A X PIE A 30,000 30,000 0
OXE=2I|EE et
15,00024*2,000% 30,000
SEA AR S 2 IESY 22 30,932 32,434 A1,502
101 Q124H 16,932 16,122 810
M IIIR22IEES 16,932 16,122 810
OXEBE AR Fe| 2 03 AREX 019
76,9602 %2 * 110 16,932
201 L2 14,000 16,312 N2,312
01 AF22t2IHI 8,900 10,360 A 1,460
OXI=gI2 ME ol 900, 0002 %43 3,600
OXZpI® &2 SARI 7Y
20,0002%20Et A% 122 4,800
OQIE)| B2 ¢ 29 19
100,000 * 1CH+53] 500
0 2329 5,100 5,952 AB52
OXNEH2 21 SIA & FSHLRA0FSI|
SEXIY QES g
2,5502%1,00024#23] 5,100
CRYUFA ALY 310,277 201,022 109,255
101 Q124H 18,471 17,588 883
M IIIR22IEES 18,471 17,588 883
OASYSE TAH L HH| 012
76,9609 %22 120! 18,471
201 L2 A 37.912 15,798 22,114
01 AbR2t2IHI 34,780 13,550 21,230

OEZE =LA 4,290




SN EXFED
HE: KNS (2ELXAINL/XALTAl)
SRl RIE2e (crel: M)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
—ZANBRALANAE SR
500,000 %13 500
—MEACH Z2H XS
800,000 *13] 800
—ME=ACH Z2H X
60,0002+ 152 900
—ME=ACH Z2H 23
160,000 +3Z+33] 1,440
—H2ST THHIME HEEZEZ2H X2/
500, 0002 %13 500
—JelZay 2 150,000 1M 150
OE2dz=A 2582 & 28,800
—S28 d+% 60,0002+ 107H Ax13] 600
—CRY=A EUEE
2,50024%8007H+ 18] 2,000
—CRYZA MIE HYXIE
87,6002 %2507 21,900
—EXE RIS
2,500241,6000H*13 4,000
—2IP =YX FHS BE2=3
10024 1,5000H*13 150
—ANIE=AHE EER2IZY
10024%1,5000H*13] 150
OASHSE 20AEA S 2IRNA K01
5024x6Z+1,0000H 300
OAld2ze| eSS HSNEHE oHH2
10024%2,00024%13] 200
OXEA2s| &l
70,0002 x5 *13] 350
OFANSRG| &M g
70,0002 62 +235| 840
02 222%H| 3,132 2,248 834
OE2YZA ZANSOHNT M) |Q2
1,00024%310 2122 372
OE2Y 20 2 Y DXL g8 QERS
2, 55021200 =23 1,020
OZZ2YUZA MMZA DD LS 22
2,550 %200 23| 1,020
OADIE ZANBRUIAAL SHER2
30,0002 *2CH+ 122 720
206 H=H] 12,000 12,000 0
01 =4l 12,000 12,000 0
OEZ2YZA S0ANY 12,000
—AE2 2R2E 29
1,000,000 13 1,000
—AEE2 M2 BAER 7Y
1,000,000 22 2,000




A

X‘liH:

Gl nszel (Crol: X2l
S - FE - 9I(3H) - HIRAY - B ol &kt ] B2t
—Al5 - B AEE HSHSH(BHE) 7
6,000 %7501 4,500
—gE - YAlZ AeHsE 1Y
6,0002%750H 4,500
308 XXIEHHISOIA 76,334 28,476 47,858
11 IS0 HE B AR SIE A 76,334 28,476 47,858
OF AL ZIAIAH(KAIS) XA 75 2 X2
39,173
—olmg} 9l 18,650,0002414! 18,650
—OIoIE S&/ds 1,850,000 1Al 1,850
—GIS S/W X2t 2,518,000 %1 Al 2,518
—FATHBAL|AAE(KAIS) 2SI
16,155,000 * 1Al 16,155
OLHFEA 7= U =AFPI|I2E S22
37,161,000 x 14! 37,161
401 AlZHIL 20| 165,560 127,160 38,400
01 Al&H] 165,560 127,160 38,400
OZ2%u £ &% & KXl 31,100
—NAE2YHE AX] 200, 0002 %50} 10,000
—g& - YA C2HT Y]
200, 00024 %254 5,000
—HAZ=E J|ZHESE A% L X2
90,0002 *50H 4,500
—=AFBOHAE SXI2e
100,000 %3174 A 3,100
—HASUE C2EFA HXIE |AI22
100,000 %854 A 8,500
oredsn &1 ¥ |xzel
10,0004 %2501 2,500
OAZ2ZAE &X 2 SK2e
62,0002 *80H 4,960
OZ2L:0 T29 TA| ZAF L SX2e
225,000 407 A 9,000
SUIAD Jte 2 S31{2l A (Z=DIE0{0IA)
800,000 x757H A 60,000
OE2YZA ZAXMPAIL QM| HLZAL 58,000
—ASHST MEZA
36,000,000 14! 36,000
CR2YHT MLETAL
22,000,000 14! 22,000
NEREIE] 648,790 751,355 A102,565
101 QI24H] 18,471 12,605 5,866
04 JIHH22TEE 18,471 12,605 5,866
OXIETHEAALSY ol
76,9602 x2%Hx 120 18,471
201 L2 A 230,319 138,750 91,569
01 AFR2t2IHI 222,759 131,190 91,569




2A:

EXEE

Y XHAF(DELX AW/ X HLTAI)
SRl RIE2e (crel: M)
SA - EH . ERI(BH) - HIRAY - BaS Ol &b b HImS2
OXNEUNEANANSA T BASE 2
9,000,000 34! 27,000
OXIMUEAL SHHEXBHRDE) X L &3
1,000, 0002 %37 & 3,000
OXETHZAINE &2 6.120
—dE3EN 2810 S 120,0002*163] 1,920
—NNTHEAAIY 222 HIZ
1,000,0002%23] 2,000
—~RIMTHEAALRY OHE S FIR
1,000,0002*13] 1,000
—XIHTUEAIAIR B0t JI=
60,0002 %1074 A#23] 1,200
OBHZHARS| &g
70,0002 7233 1,470
OXIHTEAISI 5| 2ct
70,00021*5%*33] 1,050
OLHBOILLD
50, 00021 *400Z =27} 4 40,000
OHIHSTIH FHEHE 23
124,769,0002% 14! 124,769
O AKX (A0) 7
250,000 108 A 2,500
OEH ==X (E2NAHZZE) 2
20,0002/ %258 A 500
0o =22 22 23 7¢
1,600,00021% 1 HI Ex235] 3,200
OXIEUEAL ZRIE E
400,000 1 K| Ex23] 800
OXEUEA HEERE 2HSE L A2E 29
3,000,000 % 14! 3,000
OXIHUEAL AFRIKIR J|EE &3
30,00021+80 % 2,400
OXIEUEAF XU 2e=2F 242
1,250, 0002 %374 & 3,750
OXIEUEZAL B P AR AKX HIZ
200, 0002 164! 3,200
02 2Z2%H| 7,560 7.560 0
O=2HEHI(NSSE2D]) SXIE4H|
3,780,000 x2CH*13] 7,560
301 LErE A 400,000 600,000 200,000
14 JIEIE A= 400,000 600, 000 200,000
OXIHTUEZAAIY =H2
400,000,000 % 14! 400,000
ENEEH 6,300 16,000 29,700
=2 6,300
101 1210 5,340 15,000 9,660
= 5,340
(IS EI DN =T=PS 5,340 15,000 9,660




2A:

X‘liH:

EIP(-I ‘:lﬂ|,

AT (IELXI AN/ NHLE A

2 A=l (Etel: F2)
S - HH . BRI(E]) - HIRAY - BAS ol &kt b imE==!
ONEPIEEENEE-EIEER]
5,340,0002 % 14! 5,340
= 5,340
202 OfHl 960 1,000 A40
= 90
NIENCED 960 1,000 A0
OXIFI|1ZSASH L EXI0IS K FHICHAH S XA
960, 0002 * 14! 960
= 90
(2)XETHEAAIS =& 179,626 243,699 64,073
= 179,626
201 L2 A 8,553 16,279 AT, 726
= 8,553
01 AF222IHI 8,553 16,279 AT, 726
OA=BIIAL2
50, 000 *50 2 +2JH & Xl 5,000
= 5,000
OF0I8Y3| 2HHIZ
1,249,0002 % 14! 1,249
= 1,249
OS20HAld] 8,000 *6A! %404 x 122 2,304
= 2,304
308 RHXISHHISOIA 171,073 0 171,073
= 171,073
11 I ZSOIHEH B AR S|E A 171,073 0 171,073
OXIETHEZA E20E
168,275,000+ 14! 168,275
= 168,275
OJIEE & 2,797, 7002 % 14! 2,798
2,798
(S)XI=2e] 418,000 0 418,000
[ 100,000
Al 240,000
= 78,000
207 SN 418,000 0 418,000
[ 100,000
Al 240,000
= 78,000
02 AADHEH 418,000 0 418,000
OFREXI0HNE XS HEAIY
418,000,000 * 14! 418,000
[ 100,000
Al 240,000

I

78,000




A EXIEED
M NN (FELRGMNL/XNDLEAI)

SRl RIE2e (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ] B2t
(C)T2HEFAAY 15,000 20,000 5,000

[ 3,000
Al 12,000
ENEEEET] 15,000 20,000 5,000
[ 3,000
Al 12,000
01 Al&H] 15,000 20,000 5,000
O 2ETOFRATHEXIL X
15,000,0002* 14! 15,000
[ 3,000
Al 12,000
(C)CR2HFAANAEEULMEGET 4,900 13,500 8,600
[ 4,900
NEEEET 4,900 13,500 8,600
[ 4,900
01 Al&H] 4,900 13,500 8,600
O2IMNHHST 22| AE RAALY
4,900,0002* 14! 4,900
[ 4,900
NPT 286,950 260,547 26,403
= 65,500
Al 221,450
SE AR 62,120 39,720 22,400
201 LB 57,120 34,720 22,400
01 AF22t2IHI 36,960 16,960 20,000
ONLSLZ2 Z2AIBRI HE242
200,000 %53 1,000
ONLREZ 2O 42
1,500,000 %73 10,500
ONerez sgo 200,000 *53] 1,000
OMLse2 ol 21Z3 HIZ
1,0002%1,0005*13] 1,000
ORSA HeHE MDA S HA K0!
802 1,0000H* 15 80
ORSASH AR HIZ L Xt 2
30,0002 %107 300
ORSASHY SAK WS 1,280
—REASNY SAL DK A
250,000 * 1223 500
—SESAEINY BAL DS HE
6,0002%1202 720
—SESAENY BAL NE S0 HE
60,0004 14 Ax13] 60
ORSAENYA =N EBE 7Y
18,0002 % 10074 A 1,800




SA: EXESD
H: XEHE(ZELR AL/ AL TAI)
SRl XDr2el (crel: M)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
OPIIGSAI AR LHE PC WA
1,000, 0002 % TA20IH A 20,000
02 2224 20, 160 17,760 2,400
ORIIEZA| AR RXIE4
80,0004 x21CH* 122 20,160
303 LA 5,000 5,000
01 LA 5,000 5,000 0
ORSA ANeHIF QIeralD TAZ
2,000,0002 %23 4,000
OEXINHeHEIIF 0122 2 BOISIHAFY BHAID
TAD 500,000&*23| 1,000
(2)HEZAIXIIEAAE 224,830 220,827 4,003
= 65,500
Al 159,330
101 o1A4] 69,264 65,952 3,312
= 2,003
Al 67,261
M JIZR2ENEES 69,264 65,952 3,312
OXDISESE Mok @2 U EXEAEA Q2
76,9602 x6 2+ 1502 69,264
= 2,003
Al 67,261
201 LB 149,806 149,115 691
= 63,497
Al 86,309
01 AlR22IH] 149,806 149,115 691
OMEZAIRDF HE242 127,253
k= 39,60021%162, 2072 X| /602 X| 107,057
= 53,399
Al 53,658
—=AIE 39,60024%3, 0002 K| *50%+*30% 17,820
= 8,910
Al 8,910
—O|HMS L O|QAIMER ASHL4E
39,6002 120Z K| *50% 2,376
= 1,188
Al 1,188
OEXES ZAHE 2 ZAEZXA g0
50,00024*30EHA 1,500
OZFAHHA ZXE R0
50,00024*308HA 1,500
OMLZAIXIIF AEEA S0
50,00024*30EFA 1,500
ORXIDFEAF OHY 2t 23 21D 42 HMA
60,0002+ 1374 Ax23] 1,560




A EXIEED
M NN (FELRGMNLY/XNDLEAI)

chelr XIJr2e] (CHl: X 21)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
ORSADIAZAIRIS] Balngt
70,0002 %12 *63] 5,040
OXJIEH Z2H 2XI(A0) 2L
35,0002%502 1,750
OXDtz E2H 23 7(4M)
200,0002%20S 4,000
OXITHEZE 2K 22/
500,000 *1CH*43] 2,000
OXIIEYH MAXIZ AR D P
247 0002 * 14! 247
OS201AH] 8,000 *6Alx6Hx 122 3,456
202 04| 5,760 5,760
01 2LA0IY] 5,760 5,760
O=U01tl 20,0009 +4 2% 122 +6 2 5,760
HYSHAH(EXIZ L) (JIEHIIE 107,252 90,176 17,076
DIEEEE] 107,252 90,176 17,076
DIE=E=EE] 107,252 9,176 17,076
201 L2 A 24,832 22,016 2,816
01 AbR2t2IHI 24,832 22,016 2,816
O=ARI 7Y 20,0002 % 178t A% 122 4,080
(@ = BNl 8,000 *6A!x 178 %122 9,792
Ogtteg 100,000 * 122 1,200
OARR TAFH 50,0002+ 122 600
OARSZ 244 8,140
—=2A| %2 1,000, 00024%1CH 1,000
—IZgE =l 100,000 *4CH*50/ 100 200
—=2A| EY 200,0002 %53 *1CH 1,000
—T2IE EL(Z8)
200,000 *53]| »4CH 4,000
—TIE EU(ZH)
200,000 %53+ 1CH 1,000
—PC =2l 100,000 % 17CH*20/ 100 340
—JIEt 22| 50,00081% 122 600
OJIEF AFR22lH] 5,000 % 178122 1,020
202 04| 67,320 63,360 3,960
NENCE 67,320 63,360 3,960
O2tLiodl 20,0002 %172 * 122 %128 48,960
OZ&2104H| 90,0002 %17 %12 18,360
203 LREZXIH| 3,600 3,600 0
04 ENSHARETIH 3,600 3,600 0
ORAM2IHRFEI 300,0002 %12 3,600
204 224 AHH| 1,200 1,200
NEEEEEERSEEE 1,200 1,200




A

EXEE

M HYPHAU(EXZED) (DIEHIIEH
chel: Jl2Ad| (CHl: X 21)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
OXNHSHR+HAH(EXNTENE)
100,000&*1H* 1228 1,200
405 RHHF SH| 10,300 10,300
01 AL EZF = 10,300 10,300
O=2MAIED| 7 1,300,000 *1CH 1,300
OZ=zH=eglH ¢ 9,000,000 1CH 9,000




